Cumulative Algebra Review- Chapter 03

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.

1. A parallelogram has vertices 
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. What are the coordinates of the fourth vertex?
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(C) 
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(E) It cannot be determined from the information given.

2. The height of a cylinder is equal to one-half of n, where n is equal to one-half of the cylinder's diameter. What is the surface area of this cylinder in terms of n?
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3. A triangle is formed by the x-axis, the y-axis, and the line 
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. If 
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, then what is the volume of the cone generated by rotating this triangle around the x-axis?
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4. A wire is stretched from the top of a two-foot-tall anchor to the top of a 50-foot-tall antenna. If the wire is straight and has a slope of 
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, then what is the length of the wire in feet?

(A) 89.18
(B) 120.00
(C) 123.26
(D) 129.24
(E) 134.63
5. 
If 
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, then which of the following statements must be true?
I.
If 
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II.
If 
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III.
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(A) I only

(B) II only

(C) I and II only

(D) I and III only

(E) I, II, and III


Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

Prove that there exists exactly one right triangle whose side lengths are consecutive integers.
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